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	Pg
	Error
	Correction

	38
	Chapter 2, Forwarding Traffic, Last Paragraph, First Sentence

Reads:

Interlayer traffic is traffic that is forwarded within the network layer, whereas intralayer traffic is traffic that is forwarded between network layers.
	Should read:
Intralayer traffic is traffic that is forwarded within the network layer, whereas interlayer traffic is traffic that is forwarded between network layers.

	67
	Chapter 2, Multiple Points of Redistribution

Reads:
4. Router D receives 10.1.1.0/24 as an EIGRP external and readvertises it to Router E.

5. Router E receives the route to 10.1.1.0/24 and prefers this external. Router D redistributes this route into OSPF with a cost of 5.
	Should read:

4. Router E receives 10.1.1.0/24 as an EIGRP external and readvertises it to Router D.

5. Router D receives the route to 10.1.1.0/24 and prefers this external. Router E redistributes this route into OSPF with a cost of 5.

	70
	Chapter 2, Bullet point 5
Reads:
· Router G receives the redistributed route from Router F, tagged 250.  Router G has a filter to block routes that are tagged 250, so it blocks this update, preventing the second possible routing loop.
	Should read:
· Router H receives the redistributed route from Router F, tagged 250.  Router h4444 has a filter to block routes that are tagged 250, so it blocks this update, preventing the second possible routing loop.



	166
	Chapter 4, Bullet point 3

Reads:

· An OSPF external route with metric Type 2, a redistributed metric of 200, and a cost to reach the ASBR of 10 through Router D.
	Should read:

· An OSPF external route with metric Type 2, a redistributed metric of 20, and a cost to reach the ASBR of 10 through Router D.

	384
	Appendix A, First paragraph, 3rd sentence reads:

Because the path through Router C will be two hops, and the path through Router A will be three hops, Router B would choose the path through Router A and discard the alternate path it learned through Router C.
	Should read:

Because the path through Router C will be three hops, the path through Router A will be two hops, Router B would choose the path through Router A and discard the alternate path it learned through Router C.

	389
	Appendix A, Under Figure A-4, first line 
Reads:
Router B receives three advertisements for 10.1.1.0/24 ….. Now Router B chooses the best path (lowest metric), known in EIGRP as

the //feasible distance//, to 10.1.1.0/24,     ........

Note** for the calculations to come out the same, do them in the same order and use the same routing techniques.
	Should read:

Router B receives three advertisements for 10.1.10/24 (EIGRP uses the 

 term //reported distance//):

Through Router A with a metric of 2500096           ((10^7/1500) + 3100) * 256

Through Router C with a metric of 281600            ((10^7)/10000) + 100) * 256

Through Router D with a metric of 2500096          ((10^7)/1500) + 3100) * 256

Router B adds the metric through the interface from which it receives 

the advertisements and now has the following paths:

Through Router A with a metric of 2756096           ((10^7/1500) + 4100) * 256

Through Router C with a metric of 1988096           ((10^7/1500) + 1100) * 256

Through Router D with a metric of 2756096           ((10^7/1500) + 4100) * 256

Now Router B chooses the best path (lowest metric), known in EIGRP as

the //feasible distance//, to 10.1.1.0/24,     ........

	400

thru 
408
	Headers (every even page number)

Reads:

Chapter B: OSPF Basics of Operation
	Should read:

Appendix B: OSPF Basics of Operation

	402
	Appendix B, Third bullet point
Reads:  

· Router D would generate a type 1 LSA into area 0 with a connection to Router E, and include a connectiton to the network between Routers D and E.
	Should read:
· Router D would generate a Type 4 LSA into area 0, including the cost to reach Router A.  This type 4 LSA is generated because Router A is setting a bit in it’s router LSA (Type 1), indicating that it is an ASBR (as it is redistributing a connected route into OSPF).
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